
7’ Antique PVC Laminate 
      Table with TT 



7’ Antique PVC Laminate Table with TT
Parts List

PARTSPP

HARDWARE WW PACK PP
  #20   #21   #22   #23   #24

#1 #2 #3 #4 #5

RIGHT LEG

#6

LEFT LEG
LEG END
SUPPORT

#7

#8 #9 #10 #11 #13 #14

#15 #16

2-PIECE
CUE STICK

  #25

TABLE TOP A

TABLE TENNIS
BALL

TRIANGLE
BILLIARD
BALL SET

#17 #18

CHALK BRUSH

#19

X1
EVA

SUPPORT BLOCK

Place Under Table Top

X2

X1

X2 X2 X1
X2

X1X2 X1

X8 X4 X32X16

X2

X4 X8  #26X2

BARREL NUT

  #27 X2

HEX WRENCH

#28 X1

TABLE BODY

X1

TABLE TOP B

X1
LEG MIDDLE

PANEL

X1

LEG MIDDLE
BRACE

X2

#12

TABLE TENNIS
RACKET

X2

LEG LEVELER

X4

5

4

11

1

3

2

6

“L” BRACKET

X2

5/8“ SCREW

X2

X1

TABLE TENNIS
NET & POSTS

NUT

5/16” BLACK
FLAT WASHER5/16” x 1-1/2” BOLT 5/16” x 2” BOLT 5/16” x 3-1/2” BOLT 5/16” x 4” BOLT

7

 9



WARNING: To prevent injury, exercise caution when opening and closing bench lid. Do NOT let bench lid drop shut. 
Do NOT let children operate bench lid. Be cautious when moving bench on floor. EVA pads will allow bench to slide 
on hard flooring, but may cause tipping on carpeting. Lift bench ends to move.








